Q. S h e et a k SKCM-240-11 Specifications

Ordering Guide Sample Part Number: SKCM-240-11-T100-SS-T0-F1-AI0
. Thickness Flatness . Ceramic
Chip Model Number Solder Type Sealant Tolerance Tolerance Ceramic Type Surface
SKCM-240-11
SKCM-240-11 210" | 1100 221 | NS NoSealant | TO :0.1mm FO fos | AID e % -
1200 S| ss S tioman | R BT AN MR M e
ES EpoxySealant| T2 +0.025mm F2 ;Or:r?lzs
Customer
CS  specified
sealant
Performance Metrics
Chip Model Hot Side Temp AT, .. Qunax Inax Vinax R, TE Dimensions (mm)
Number Ty . e (DC
(O (O (Watts)  (Amps) Volts) (@ A B C b
SKCM-240-11 27 82 73 9.5 18.0 1.80 40 40 3.2 150
SKCM-240-11 50 95 90 10.3 21.7 2.00 40 40 3.2 150

Notes:

1. All performance values fall within £10% tolerance of tested data and/or models.
2. Dimensions are typical and subject to change based on exact configuration ordered.
3. Contact Sheetak at info@sheetak.com for additional performance data, chip options or customization

Chip Dimensions
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Notes:

1. Please see the Ordering Guide for flatness and thickness tolerances.
2. Ceramic face with part number is the cold side and wires are soldered on the hot side.
3.  Some TECs may have a porch design or wires soldered on the side.
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Performance Curves @ Ty=27°C
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Performance Curves @ Ty=50°C
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Performance Curves @ Ty=27°C Performance Curves @ Ty=50°C
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